The reading asserts environmental changes cause the extinction of or the decrease of their population and proposes some solutions to this problem. The lecturer, however, finds the idea dubious and casts doubt on the reasons solutions proposed by the reading passage./finds the solutions impractical.
The author argues that pesticide – the chemical substance which controls the insect-insects’ damages to crops – should be prohibited. It causes breathing problems by attacking the frog's frogs’ nervous system. Conversely, the lecturer brings up the idea that it can be an irrational assumption since it is not economically practical and fair for farmers. They rely on these products to stay in the market and compete with other farmers. If they do not use pesticides, they would lose their crops and do not have any chance to compete.  
Furthermore, the reading passage holds the view that infections by fungus should be controlled because they thicken the frog's skin through which it absorbs water to stay alive. On the contrary, the professor underlines the fact that every individual of fungus has its own characteristic so it would be difficult in a large scale. The treatments have to be applied for each generation too –their offspringsoffspring. Therefore, it would be expensive and so complicated.	Comment by Hamed Aalaee: Uncountable
Finally, the reading asserts their habitats are threatened by human activities. In contrast, the speaker dismisses this issue due to the fact that it is mostly because of global warming, not human activities. She believes global warming causes many water resources to be disappeared disappear and this is the main treatment threat that can affects human lives too.	Comment by Hamed Aalaee: Transitive and Intransitive Verbs * 
Therefore, it is axiomatic that these solutions in reading are not practical. So the lecturer challenges the statements made by the author and elaborates that this idea is not logical too.	Comment by Hamed Aalaee: You may eliminate this part! 
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There are minor grammatical mistakes.
You should adjust the time through regular practice!
[bookmark: _GoBack]Make sure the intro shows the main idea effectively. 
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